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The answer is 4
	⚂     ⚂
⚂     ⚁
⚁     ⚀



The answer is 6

	⚀     ⚂
⚂     ⚀
⚅     ⚅




The answer is 4
	⚅     ⚂
⚂     ⚂
⚁     ⚄




The answer is 10



Directions

1) Look at the planets around the sun worksheet.

2) Figure out how we got the answer.
 
3) Once you figure out the answer or if you give up, look at the answer sheet.








Answer Key

⚀= Zero planets
⚁= Zero planets
⚂= Two planets
⚃= Zero planets
⚄= Four planets
⚅= Zero planet

Add up the dots around the dot in the center. Any die that has no center dot, has no “planets”
⚄			⚁	
